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5325-A
M.A. (Final) Examination, 2017

ECONOMICS
Paper-V (A)
(Industrial Economics)

Time : Three Hours
Maximum Marks : 100

PART - A (@uz-21) [Marks : 20
Answer all questions (50 words each).
All questions carry equal marks.
T T A 1 o T I T v s T A
Tl W % S g F
PART - B (@uz-9) [Marks : 50
Answer five questions (250 words each).
Selecting one from each unit. All questions carry equal marks.
T THE ¥ TH-TR 597 T U, T W 5o i
ToIF TR T IR 250 WEE | AAferem 7 91

Tt w97 F i T
PART - C (@us-1q) [Marks : 30
Answer any fivo questions (300 words each).
All questions carry equal marks.

FE 2 W T | I W ST 300 I B S A 8
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PART - A
(EUE-37)

1. Answer all the questions :

Tyl & 3T dife
UNIT -1
(g3-1)
(a) Explain the concept of firm.
T Y SFYRON Y HIE |

(b) Whatis meant by product differentiation ?
a5 fade ¥ am 7= g €2
UNIT - II
(TwTE-11)

(¢) Define markup pricing.
AEHAY 7 fAaRT & wremgd

(d) Write the methods of capital budgeting.

TSt vz +i fafimt fafe)
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UNIT - III
(3HTE-111)
( e ) Explain exit policy.
fraste = =1 TwaEd |
(f)  Whatis the need for social security ?
Frenfster HqEa T SEvam B 67
UNIT - IV
(FE-1V)
(g) Define cquity shares.
HET A ) wfenfie wife
(h)} Meaning of ratio analysis.
T fervetwer =1 31efy
UNIT -V
(3E-V)
(i)  Write the major problems of sugar industry.
=T IR it ger gaemell i fafau

(j)  Which are major cement producer states of India ?

WRE ¥ TE T IEEE 59 HE ° 87
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PART - B
(Evg-a)
UNIT - I
(TF1E-1)

2. Explain the characteristics and merits & demerits of a

partnership firm. 5,5
T qrEeR FH w1 fasraed wd o qen S % fadem wiw
3. What are large scale economies ? Distinguish between internal
and external economies. 4.6
¢ YA w1 F9dl g aead 82 srafE 9w 9 =9l
3T TR |
UNIT - 1I
(g=t-11)
4. Explain product pricing. Give situations for product pricing.
4.6
3 qed MuRor i 9UART A1 S| ged fof #5159
wifeafadl =t it a@mEw
5. Write a critical note on corporate takeovers, 10

HEEl & R W U seraers fewdt fafea
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UNIT - 111

(gehT3-111 )

What are multinational corporations ? Critically analyse the
contribution of multi-national corporations in economic
development of India. 4,6
T-TE 1w B 87 sw & anfies faww § ag-ugm
Tl & Frem 1 s fave Fifa

Explain industrial economic concentration and suggest remedial
measures to prevent industrial economic concentration. 4.6
Sireifi sfder Hh=w S TEEET 991 T8 I F Su o
EGiEd|

UNIT - 1V

(3FTE-1V)

Define industrial funds. Describe various sources of industrial

funds. 3.7
Hreife S 8 oftsnfa #ife s s S % S o
EAREEEE I ITed

5325-A71250 5 PTO.



9.

10.

11.

What is meant by 'Activity Ratio’ ? Why is it calculated ?

Explain. 4.6

Thtraa g | =1 ared €7 39t o T st % fee
Fi T T 7 AT FHIT

UNIT - V

(3FTE-V)
Describe the development, present status and problems of Iron
& Steel industry in India. 334
YT o ©lie] Td g% Sem & fam, wiam frgfa e ameed
EIREEEEUETIELY
Underline the importance of small scale industries in econmic

development of India. 10

IRA & e famma H o seri & e %) taifwd sifsa )
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12.

13.

PART - C
(TEvg-49)
UNIT -1

(3=TE-1)

Explain the reasons that affect localization of industries. Do
all the factors are equally important ? Answer with reasons.
510
TN o TGO WS T A1 e =t = i
= [T HRH] o AT WHE B €2 FRUN Afed T G
UNIT - I1

(Z=TE-11)

What are the factors that determine the size of any industrial

unit ? Describe. 15
et sieifrs o6 ¥ oTeR & Fufe s TR PR SR 9

37 faa=rmn wifau
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14.

i5.

6.

UNIT - IIT

(z=E-T )

Critically analyse the trends in Indian industrial growth since

1991, 15
F11991 ¥ 7R F ek fowm w5 a9t @ et
faverm Fifsm

UNIT - IV

(FFB-1V )

What is meant by organized capital market ? What efforts

have been made to activate the capital market in India ?

Explain. 5,10
Ffaa ol ST & w0 et ¥2 wwe § 95w w5 whee
ERSERGRER R LR L RiCE PR ceof

UNIT -V

(3HE-V)
Ciive the present definition of small industries. What incentives
have been given to these industries in India 2 Describe. 3,12
T TEIT W adam e i e sEn @ amE § 9
IR & e ¥ fade Edisig!
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